EXERZEVOZAE - BERE (AR FTHMIFIANTHAEIAFET)

w= | MR FHE MIBELE(A)
BREYDELE |55 ce=

EARME 4 5 6 7 8 9 10 11 12 1 2 3 g
IR A EEY ;‘J\% 19.5 28 43.4 48.9 10.4 22.7 111 85.8 118.2 72.6 75.6 136.5 772.6
= B s 20.7 54 51.2 103 78.7 62.7 243.2 205 304 2115 307.2 326.8 1968
= dE | RAE 43.4 168.6 179.9 218.4 197.1 163.9 125.7 124.6 133.7 125.4 127.7 138.7] 17471
BISAF VIR Eif= 43.4 218 204 218.4 197.1 221.4 174 184.9 138.6 131.2 151.7 199.8] 20825
P s ZAE 0 0 0 0 0 0 0 0 0 0.4 0 0 0.4
" Eif= 0 0 0 0 0 0 0 0 0 0.4 0 0 0.4
RS ZAE 0.7 1.9 0.6 7.4 0.3 0 0.3 42 1.6 0.2 1.9 0 19.1
ERs 0.7 1.9 0.6 7.4 0.3 0 0.3 42 1.6 0.2 1.9 0 19.1
. : ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
i Eif= 0 0 0 0 0 0 0 0 0 0 0 0 0
ASR . aAVV)-|BAZE 0.1 0.4 0.2 0.1 0.1 0.2 2.3 0.6 0.2 0.1 0.1 0.4 48
b-BEREER<T |EBiIRE 0.1 0.4 0.2 0.1 0.1 0.2 2.3 0.6 0.2 0.3 0.3 0.4 5.2
SECE ZAE 0.5 2.3 1.1 14 14 0.9 1.7 1.6 0.8 0.8 0.8 1.3 14.6
n EikE 0.5 2.3 1.1 1.4 1.4 0.9 1.7 1.6 0.8 0.8 0.8 1.3 14.6
ek | RAZ 2.7 5 5 5.1 5.2 46 4.4 45 6.3 6.7 6.6 6 62.1
IR Eif=s 2.7 5 5 5.1 5.2 46 4.4 45 6.3 6.7 6.6 6 62.1
SE ZA=E 10.2 6.8 13.1 9.5 4.2 7.3 6.3 6.2 5.8 16.9 24.3 8.6 119.2
3 ERs 31.1 76.3 73.7 46.2 70.4 485 56.9 63.2 47 48 68.9 72.9 703.1
BREMEXERE|ZAS 10.9 30 22.9 27.1 35.8 29.9 28.2 28.7 30.1 40 52.3 49.1 385
i EiR=E 10.9 30 22.9 27.1 35.8 29.9 28.2 28.7 30.1 40 52.3 49.1 385
TA=Z 0 0 0 0 0 0 0 0 0 0 0 0 0
RI1Y Eif=s 0 0 0 0 0 0 0 0 0 0 0 0 0
RS AEER(ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
ZY Eif=s 0 0 0 0 0 0 0 0 0 0 0 0 0
R ZA=E 0.3 0.4 0.3 0.8 0.8 0.7 0.5 0.5 0.5 0.5 0.4 0.5 6.2
B 0.3 0.4 0.3 0.8 0.8 0.7 0.5 0.5 0.5 0.5 0.4 0.5 6.2
ZA=E 0.3 0.6 0.5 1 1 0.6 1 0.6 0.8 0.6 0.6 0.6 8.2
BT LN Eif=s 0.3 0.6 0.5 1 1 0.6 1 0.6 0.8 0.6 0.6 0.6 8.2
i ZAE 0 0 0 0 0 0 0 0 0.3 0 0 0.8 1.1
’ Bk E 0 0 0 0 0 0 0 0 0.3 0 0 0.8 1.1
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EXERZEVOZAE - BERE (AR FTHMAFIANTHSEIAFET)

w= | MR FHE MIBELE(A)
BREYDELE |55 ce=

EARME 4 5 6 7 8 9 10 11 12 1 2 3 #5
IR A EEY ;‘J\% 98.1 79.9 80.6 48 7.5 71.4 81.8 70.8 122 51.1 91.9 92.4 965.5
= B s 276.7 196 307.7 190.9 262.5 212.6 288.2 234.6 357.1 1324 293.2 286.4] 3038.3
= dE | RAE 129.2 117.7 134 120.3 167.1 125.6 132.2 126.1 139.7 107.8 132.8 1348  1567.3
BISAF VIR Eif= 158.8 144.8 172.2 147.2 175.9 157.1 161 157.6 173 123.1 167.5 165.3] 1903.5
P s ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
" Eif= 0 0 0 0 0 0 0 0 0 0 0 0 0
RS ZAE 2.9 0 2.8 1.3 0.3 2.8 2 0.2 0 3 0.8 14.9 31
B e 2.9 0 2.8 1.3 0.3 2.8 2 0.2 0 3 0.8 14.9 31
. : ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
i Eif= 0 0 0 0 0 0 0 0 0 0 0 0 0
ASR . aAVV)-|BAZE 1.2 0.1 0.2 0.2 0.1 0.1 0.2 0.1 0.8 0.1 0.2 0.1 3.4
b-BEREER<T |EBiIRE 1.2 0.1 0.2 0.2 0.1 0.1 0.2 0.1 0.8 0.1 0.2 0.1 3.4
SRS ZAE 2.3 0.7 1.8 1.3 0.8 0.3 0.7 15 1.3 0.3 0.7 0.7 12.4
n EikE 2.3 0.7 1.8 1.3 0.8 0.3 0.7 15 1.3 0.3 0.7 0.7 12.4
e | ZASE 4.9 6.5 5 5 5.7 5.4 2.9 2.6 3.6 3.7 5 8.7 59
IR Eif=s 4.9 6.5 5 5 5.7 5.4 2.9 2.6 3.6 3.7 5 8.7 59
S TA=Z 5 7.6 13.9 5 8.2 7.5 4.7 9.6 5.4 6.8 8.2 81.9
EikE 58.6 45.3 50.6 59.1 52.6 51.4 51.2 45.3 69.4 53.1 73.7 58.3 668.6
BREMEXERE|ZAS 41.2 426 35.8 38.8 54.3 41.8 36.9 38.8 50.4 47.3 36.5 37 501.4
i EiR=E 41.2 426 35.8 38.8 54.3 41.8 36.9 38.8 50.4 47.3 36.5 37 501.4
TA=Z 0 0 0 0 0 0 0 0 0 0 0 0 0
RI1Y Eif=s 0 0 0 0 0 0 0 0 0 0 0 0 0
RS AEER(ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
ZY Eif=s 0 0 0 0 0 0 0 0 0 0 0 0 0
s TAZ 0.4 0.4 0.3 0.6 0.4 0.4 0.4 0.3 0.3 0.2 0.4 05 46
Eif=s 0.4 0.4 0.3 0.6 0.4 0.4 0.4 0.3 0.3 0.2 0.4 05 46
| ZASE 0.1 0.7 1 0.9 0.6 0.5 0.9 0.7 1 0.7 1.9 1 10
BT LN Eif=s 0.1 0.7 1 0.9 0.6 0.5 0.9 0.7 1 0.7 1.9 1 10
e TAZ 0.1 1 0 0 0.9 0 0 0.6 0 0 0.4 0 3
! Eik=E 0.1 1 0 0 0.9 0 0 0.6 0 0 0.4 0 3
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EXRZEVOZAE - BERE (AR FTMSFIANTH6EIAFET)

w= | MR FHE MIBELE(A)
BREYDELE |55 ce=

EARME 4 5 6 7 8 9 10 11 12 1 2 3 #5
IR A REY ;‘J\% 70.4 108.3 68.8 62.8 72.4 60.5 80.7 62.7 96.3 74.5 118.3 92.9 968.6
= B s 231.1 261.7 233.3 147.5 201.9 229 199.9 230 299.6 150 346.1 333.4] 28635
= dE | RAE 130.4 127.2 135.1 145.2 130.9 112.9 131.5 141.8 136.6 122.4 123.8 135 1572.8
BISAF VIR Eif= 162.6 147.2 153.4 210.8 145 128.9 148.5 159.2 149.5 134.9 136.4 149.4] 1825.8
P s ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
" Eif= 0 0 0 0 0 0 0 0 0 0 0 0 0
RS ZAE 3.1 1.6 3 2.7 0.4 1.7 0.9 0.5 0.1 75 4.4 12 37.9
ERs 3.1 1.6 3 2.7 0.4 1.7 0.9 0.5 0.1 75 4.4 12 37.9
. : ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
i Eif= 0 0 0 0 0 0 0 0 0 0 0 0 0
ASX . aAVD)-1ZF A= 0.9 0.1 0.4 0.1 0.1 0.2 0.1 0.9 0.1 0.2 0.5 1.2 48
b-BEREER<T |EBiIRE 0.9 0.1 0.4 0.1 0.1 0.2 0.1 0.9 0.1 0.2 0.5 1.2 48
s ZAE 1.7 1.1 1.2 2.1 0.9 2 14 1.2 0.5 0.9 1.1 1.6 15.7
EET ERs 1.7 1.1 1.2 2.1 0.9 2 14 1.2 0.5 0.9 1.1 1.6 15.7
ek | RAZ 2.9 3 4.1 2.9 2.9 3.1 2.7 5.1 2.7 6 3.4 47 435
BiBMitRE ERs 6.2 4.5 5.9 5.1 46 47 6.4 16.2 13.3 10.6 9.2 11.1 97.8
SE TA=Z 6.2 7.8 26.3 46 23.1 24.4 12.4 31.8 20.5 46.5 21.9 33.9 259.4
I Eif=s 40.8 53.4 46.5 33.2 48.7 45.4 39.1 64.4 51.1 56 446 79.7 602.9
BREMEXERE|ZAS 31.2 34.6 34.3 35.8 37.1 36 33.8 33.5 39.5 40.9 38.1 41.3 436.1
i EikE 31.2 34.6 34.3 35.8 37.1 36 33.8 33.5 39.5 40.9 38.1 41.3 436.1
TA=Z 0 0 0 0 0 0 0 0 0 0 0 0 0
RI1Y Eif=s 0 0 0 0 0 0 0 0 0 0 0 0 0
RS AEER(ZAE 0 0 0 0 0 0 0 0 0 0 0 0 0
ZY Eif=s 0 0 0 0 0 0 0 0 0 0 0 0 0
s TAZ 0.4 0.1 0.3 0.2 0.2 0.3 0.2 0.2 0.4 0.2 0.2 05 3.2
B 0.4 0.1 0.3 0.2 0.2 0.3 0.2 0.2 0.4 0.2 0.2 0.5 3.2
TAZ 0.7 0.7 0.9 0.7 0.6 1.1 0.8 0.6 1.1 05 05 1 9.2
BT LN Eif=s 0.7 0.7 0.9 0.7 0.6 1.1 0.8 0.6 1.1 05 05 1 9.2
e TAZ 0.8 0 0.1 0.7 0 0 0.7 0 0 0 0.1 0.5 2.9
’ Eif=s 0.8 0 0.1 0.7 0 0 0.7 0 0 0 0.1 0.5 2.9
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EXERZEVOZAE - BERE (AR FTHMOFIANTHIEIAFET)

" L5755k MIBELE(R)
EEMOESE | CATE
RARIE — 5 6 7 8 9 10 1 12 1 2
snE o ZAE 103.9 85.7 64.3 145.3 49.6 278.5 108.9 82.1 108.2 93.5 1120
BRESRERY EikE 271.6 142.3 223.9 234.3 129.6 384.3 321.6 150.7 318.5 111 2287.8
IS 180.2 136.6 105.9 925 74.8 76.9 134.4 93.8 92 72.2 1059.3
BITRTIIR EikE 200.1 154.6 120.2 110.7 88.9 90.3 134.4 93.8 114 83.8 1190.8
P s ZAE 0.7 0 0 0 0 0 0 0 0 0 0.7
" EikE 0.7 0 0 0 0 0 0 0 0 0 0.7
G ZAE 3 1.9 25.1 19.9 10.8 17.1 28.9 7.8 13 2.3 129.8
B e 3 1.9 25.1 19.9 10.8 17.1 28.9 7.8 13 2.3 129.8
. . ZAE 0 0 0 0 0 0 0 0 0 0 0
i Bk s 0 0 0 0 0 0 0 0 0 0 0
ASR. AVT)-|ZAE 4.1 0.1 0.2 3.4 1.1 1 1.3 0.5 15 0.7 13.9
k- FRHEE<T [Ef= 4.1 0.1 0.2 3.4 1.1 1 1.3 0.6 15 0.7 14
s ZAE 2.4 1.8 15 0.6 0.7 0.8 1.3 0.8 0.7 0.6 11.2
EET B 24 1.8 15 0.6 0.7 0.8 1.3 0.8 0.7 0.6 11.2
ek | RAZ 3.5 0.8 3.1 7.5 2.2 1.9 2.1 3.7 3.4 1.2 29.4
DI B 10.4 3.6 3.1 75 2.2 1.9 2.1 3.7 3.4 1.2 39.1
SE ZASE 19.3 18.7 115 10 8.8 9.2 6.9 7.8 7.7 6.6 106.5
74 B 61.1 64 17.1 10 8.8 9.2 9.2 7.8 12.4 6.6 206.2
BRIMEXRE|ZAS 15.5 18 6.6 224 7.1 6.7 7.8 6.9 8.4 9.4 108.8
Y| EikE 15.5 18 6.6 224 7.1 6.7 7.8 6.9 8.4 9.4 108.8
ZAE 0 0 0 0 0 0 0 0 0 0 0
BV EikE 0 0 0 0 0 0 0 0 0 0 0
AIREEEER|ZASE 0 0 0 0 0 0 0 0 0 0 0
ZY EikE 0 0 0 0 0 0 0 0 0 0 0
R ZAE 0.5 0.4 0.4 0.5 0.5 0.5 0.2 0.6 0.6 0.2 44
EikE 0.5 0.4 0.4 0.5 0.5 0.5 0.2 0.6 0.6 0.2 44
= A =
| ZFAE 3.4 1 1.2 0.8 0.9 0.9 1.3 1.1 15 0.6 12.7
BT L7 B e 3.4 1 1.2 0.8 0.9 0.9 1.3 1.1 15 0.6 12.7
i ZAE 0 0.6 0.1 0.1 0.1 0.1 0.5 0.1 0.2 0.1 1.9
) Bk s 0 0.6 0.1 0.1 0.1 0.1 0.5 0.1 0.2 0.1 1.9
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